



Probabilistic Degenerate Poly r -Stirling Numbers of the Second Kind and r -Bell Polynomials

Si Hyeon Lee

Kwangwoon University, Seoul 139-701, Republic of Korea

Abstract. We introduce degenerate poly r -Stirling numbers of the second kind and poly r -Bell polynomials by using degenerate polyexponential function and investigate some properties of these number and polynomials.

2020 Mathematics Subject Classifications: 11B73

Key Words and Phrases: Stirling numbers of the second kind, Bell polynomials

1. Introduction

Recently, degenerate Stirling numbers of the second kind and degenerate Bell polynomials have been studied by many researchers (see [1],[2],[3],[4],[5],[6],[7],[8]). These numbers and polynomials were explored from a view of probabilistic perspective (see [9],[10],[11],[12],[13],[14],[15],[16],[17],[18],[19]). The outline of the paper is as follows. In section 1, we recall some definitions. In section 2, we consider a probabilistic polyexponential function using a degenerate polyexponential function, and then define the probabilistic degenerate poly r -Stirling numbers of the second kind and probabilistic degenerate poly r -Bell polynomials. In Theorem 2.1, we derive an expression for $S_{2,\lambda}^{(r,k,Y)}(n+r, l+r)$. In Theorem 2.2, we get an expression for $S_{2,\lambda}^{(r,k,Y)}(n+r, l+r)$ as sum of the products. In Theorem 2.3, we get expression for $S_{2,\lambda}^{(r,k,Y)}(n+r, l+2r)$. In Theorem 2.4, we find some relation for $S_{2,\lambda}^{(r,k,Y)}(n+r, l+r)$. In Theorem 2.5 we get an expression for $Bel_{n,\lambda}^{(r,k,Y)}(x)$. In Theorem 2.6 we derive an expression for $Bel_{n,\lambda}^{(r,k,Y)}(x)$.

In ([20],[4],[13],[21],[14],[22]) and ([15],[23],[24],[25],[19]) researchers studied degenerate exponential function.

For any nonzero $\lambda \in \mathbb{R}$, the degenerate exponentials $e_\lambda^x(t)$, which are defined by

$$e_\lambda^x(t) = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}. \quad (1)$$

DOI: <https://doi.org/10.29020/nybg.ejpam.v18i2.6085>

Email address: ugug11@naver.com (S. H. Lee)

where $(x)_{0,\lambda} = 1$, $(x)_{n,\lambda} = x(x - \lambda) \cdots (x - (n - 1)\lambda)$, $(n \geq 1)$.

The degenerate Stirling numbers of the second kind are defined

$$\frac{1}{k!} (e_\lambda(t) - 1)^k = \sum_{n=k}^{\infty} \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda \frac{t^n}{n!}, \quad (\text{see}[26], [27], [5], [6], [7], [28]). \quad (2)$$

The degenerate r -Stirling numbers of the second kind are given by

$$\frac{1}{k!} (e_\lambda(t) - 1)^k e_\lambda^r(t) = \sum_{n=k}^{\infty} S_{2,\lambda}^{(r)}(n + r, k + r) \frac{t^n}{n!}, \quad (\text{see}[20], [29]). \quad (3)$$

The degenerate r -Bell polynomials are defined by

$$e^{x(e_\lambda(t)-1)} e_\lambda^r(t) = \sum_{n=0}^{\infty} Bel_{n,\lambda}^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see}[3], [30], [29]). \quad (4)$$

The degenerate polyexponential function is defined by

$$Ei_{k,\lambda}(x) = \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda}}{(n-1)!n^k} x^n, \quad (k \in \mathbb{Z}, |x| < 1), \quad (\text{see}[[31], [4], [5], [10], [16], [17], [18], [32], [33]]). \quad (5)$$

In this paper, let Y be a random variable such that the moment generating function of Y and satisfy

$$E[e^{Yt}] = \sum_{n=0}^{\infty} E[Y^n] \frac{t^n}{n!}, \quad (|t| < r), \quad (\text{see}[1], [9], [2], [34], [35], [8], [36]). \quad (6)$$

for some $r > 0$. Let $(Y_k)_{k \geq 1}$ be a sequence of mutually copies of random variable Y and let $S_k = Y_1 + Y_2 + \cdots + Y_k$, $(k \geq 1)$ with $S_0 = 0$.

The probabilistic degenerate Stirling numbers of the second kind associated with Y are defined by

$$\frac{1}{k} (E[e_\lambda^Y(t)] - 1)^k = \sum_{n=k}^{\infty} \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_{Y,\lambda} \frac{t^n}{n!}, \quad (\text{see}[1], [11], [15], [37], [8], [38], [19]). \quad (7)$$

2. Probabilistic degenerate poly r -Stirling numbers of the second kind and r -Bell polynomials

In this section, we consider degenerate probabilistic polyexponential function which is given by

$$Ei_{k,\lambda}^Y(t) = \sum_{n=1}^{\infty} \frac{E[(Y)_{n,\lambda}]}{(n-1)!n^k} t^n. \quad (8)$$

From (8), we note that

$$Ei_{1,\lambda}^Y(t) = \sum_{n=1}^{\infty} \frac{E[(Y)_{n,\lambda}]}{n!} t^n = E[e_\lambda^Y(t)] - 1 \tag{9}$$

and

$$Ei_{1,\lambda}^1(t) = \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda}}{n!} t^n = Ei_{1,\lambda}(t). \tag{10}$$

Now, we consider probabilistic degenerate poly r-Stirling numbers of the second kind which are given by

$$\frac{1}{l!} (Ei_{k,\lambda}^Y(t))^l (E[e_\lambda^Y(t)])^r = \sum_{n=l}^{\infty} S_{2,\lambda}^{(r,k,Y)}(n+r, l+r) \frac{t^n}{n!}. \tag{11}$$

When $k = 1, Y = 1, S_{2,\lambda}^{(r,1,1)}(n+r, l+r) = S_{2,\lambda}^{(r)}(n+r, l+r)$.

From (11), we have

$$\begin{aligned} \sum_{n=l}^{\infty} S_{2,\lambda}^{(r,k,Y)}(n+r, l+r) \frac{t^n}{n!} &= \frac{1}{l!} (Ei_{k,\lambda}^Y(t))^l (E[e_\lambda^Y(t)])^r \tag{12} \\ &= \frac{1}{l!} \left(\sum_{i_1=1}^{\infty} \frac{E[(Y)_{i_1,\lambda}]}{(i_1-1)! i_1^k} t^{i_1} \right) \cdots \left(\sum_{i_l=1}^{\infty} \frac{E[(Y)_{i_l,\lambda}]}{(i_l-1)! i_l^k} t^{i_l} \right) (E[e_\lambda^Y(t)])^r \\ &= \frac{1}{l!} \sum_{m=l}^{\infty} \sum_{i_1+\dots+i_l=m} \binom{m}{i_1, \dots, i_l} \frac{E[(Y)_{i_1,\lambda}] \cdots E[(Y)_{i_l,\lambda}]}{i_1^{k-1} i_2^{k-1} \cdots i_l^{k-1}} \frac{t^m}{m!} \sum_{j=0}^{\infty} E[(S_r)_{j,\lambda}] \frac{t^j}{j!} \\ &= \frac{1}{l!} \sum_{n=l}^{\infty} \sum_{m=l}^n \sum_{i_1+\dots+i_l=m} \binom{m}{i_1, \dots, i_l} \binom{n}{m} \frac{E[(Y)_{i_1,\lambda}] \cdots E[(Y)_{i_l,\lambda}]}{i_1^{k-1} i_2^{k-1} \cdots i_l^{k-1}} E[(S_r)_{j,\lambda}] \frac{t^n}{n!}. \end{aligned}$$

Thus, we have the following theorem.

Theorem 1. For $n \geq l$, we have

$$S_{2,\lambda}^{(r,k,Y)}(n+r, l+r) = \sum_{n=l}^{\infty} \sum_{m=l}^n \sum_{i_1+\dots+i_l=m} \binom{m}{i_1, \dots, i_l} \binom{n}{m} \frac{E[(Y)_{i_1,\lambda}] \cdots E[(Y)_{i_l,\lambda}]}{i_1^{k-1} i_2^{k-1} \cdots i_l^{k-1}} E[(S_r)_{j,\lambda}].$$

From (11), we get

$$\begin{aligned} \sum_{n=l}^{\infty} S_{2,\lambda}^{(r,k,Y)}(n+r, l+r) \frac{t^n}{n!} &= \frac{1}{l!} (Ei_{k,\lambda}^Y(t))^l (E[e_\lambda^Y(t)] - 1 + 1)^r \tag{13} \\ &= \frac{1}{l!} (Ei_{k,\lambda}^Y(t))^l \sum_{i=0}^{\infty} \binom{r}{i} (E[e_\lambda^Y(t)] - 1)^i \end{aligned}$$

$$\begin{aligned}
&= \frac{1}{l!} (Ei_{k,\lambda}^Y(t))^l \sum_{i=0}^{\infty} (r)_i \sum_{m=i}^{\infty} \left\{ \begin{matrix} m \\ i \end{matrix} \right\}_{\lambda,Y} \frac{t^m}{m!} \\
&= \sum_{j=l}^{\infty} S_{2,\lambda}^{(k,Y)}(j,l) \frac{t^j}{j!} \sum_{m=i}^{\infty} \sum_{i=0}^m (r)_i \left\{ \begin{matrix} m \\ i \end{matrix} \right\}_{\lambda,Y} \frac{t^m}{m!} \\
&= \sum_{n=l+i}^{\infty} \sum_{m=i}^n \sum_{i=0}^m \binom{n}{m} (r)_i \left\{ \begin{matrix} m \\ i \end{matrix} \right\}_{\lambda,Y} S_{2,\lambda}^{(k,Y)}(n-m,l) \frac{t^n}{n!}.
\end{aligned}$$

Thus, we get the following theorem.

Theorem 2. For $l \geq i$, we have

$$S_{2,\lambda}^{(r,k,Y)}(n+r, k+r) = \sum_{m=i}^n \sum_{i=0}^m \binom{n}{m} (r)_i \left\{ \begin{matrix} m \\ i \end{matrix} \right\}_{\lambda,Y} S_{2,\lambda}^{(k,Y)}(n-m, l).$$

From (11), we have

$$\begin{aligned}
\sum_{n=k}^{\infty} S_{2,\lambda}^{(r,k,Y)}(n+r, l+r) \frac{t^n}{n!} (Ei_{k,\lambda}^Y(t)) &= \frac{1}{l!} (Ei_{l,\lambda}^Y(t))^{l+1} (E[e_{\lambda}^Y(t)])^r \quad (14) \\
&= \frac{(l+1)!}{l!} \sum_{n=k}^{\infty} S_{2,\lambda}^{(r,k,Y)}(n+r, l+r+1) \frac{t^n}{n!} \\
&= (l+1) \sum_{n=k}^{\infty} S_{2,\lambda}^{(r,k,Y)}(n+r, l+r+1) \frac{t^n}{n!}.
\end{aligned}$$

The left hand side of (14), we have

$$\begin{aligned}
\sum_{n=k}^{\infty} S_{2,\lambda}^{(r,k,Y)}(n+r, l+r) \frac{t^n}{n!} (Ei_{k,\lambda}^Y(t)) &= \sum_{m=k}^{\infty} S_{2,\lambda}^{(r,k,Y)}(m+r, l+r) \frac{t^m}{m!} \sum_{i=1}^{\infty} \frac{E[(Y)_{i,\lambda}]}{(i-1)! i^k} t^i \quad (15) \\
&= \sum_{n=k+1}^{\infty} \sum_{m=k}^n \binom{n}{m} S_{2,\lambda}^{(r,k,Y)}(m+r, l+r) \frac{E[(Y)_{n-m,\lambda}]}{(n-m-1)!(n-m)^k} \frac{t^n}{n!}.
\end{aligned}$$

By comparing the coefficients of (14) and (15), we get the following theorem.

Theorem 3. For $n \geq k+1$, we have

$$S_{2,\lambda}^{(r,k,Y)}(n+r, l+r+1) = \frac{1}{l+1} \sum_{m=k}^n \binom{n}{m} S_{2,\lambda}^{(r,k,Y)}(m+r, l+r) \frac{E[(Y)_{n-m,\lambda}]}{(n-m-1)!(n-m)^k}.$$

From (11), we have

$$\begin{aligned}
 \sum_{n=l}^{\infty} S_{2,\lambda}^{(r,k,Y)}(n+r, l+r) \frac{t^n}{n!} &= \frac{1}{l!} (Ei_{l,\lambda}^Y(t))^l (E[e_\lambda^Y(t)])^r \tag{16} \\
 &= \frac{1}{r!} (Ei_{k,\lambda}^Y(t))^r (E[e_\lambda^Y(t)])^r (Ei_{k,\lambda}^Y(t))^{l-r} \\
 &= \sum_{m=r}^{\infty} S_{2,\lambda}^{(r,k,Y)}(m+r, 2r) \frac{t^m}{m!} (l-r)! \sum_{i=l-r}^{\infty} S_{2,\lambda}^{(k,Y)}(i, l-r) \frac{t^i}{i!} \\
 &= \sum_{n=l}^{\infty} \sum_{m=r}^n (l-r)! \binom{n}{m} S_{2,\lambda}^{(r,k,Y)}(m+r, 2r) S_{2,\lambda}^{(k,Y)}(n-m, l-r) \frac{t^n}{n!}.
 \end{aligned}$$

Thus, we get the following theorem.

Theorem 4. For $n \geq l$, we have

$$S_{2,\lambda}^{(r,k,Y)}(n+r, l+r) = \sum_{m=r}^n \binom{n}{m} (l-r)! S_{2,\lambda}^{(r,k,Y)}(m+r, 2r) S_{2,\lambda}^{(k,Y)}(n-m, l-r).$$

Now, we consider probabilistic degenerate poly r -Bell polynomials associated with Y which are given by

$$e^{x(Ei_{k,\lambda}^Y(t))} (E[e_\lambda^Y(t)])^r = \sum_{n=0}^{\infty} Bel_{n,\lambda}^{(r,k,Y)}(x) \frac{t^n}{n!}. \tag{17}$$

From (17), we have

$$\begin{aligned}
 \sum_{n=0}^{\infty} Bel_{n,\lambda}^{(r,k,Y)}(x) \frac{t^n}{n!} &= e^{x(Ei_{k,\lambda}^Y(t))} (E[e_\lambda^Y(t)])^r \tag{18} \\
 &= \sum_{l=0}^{\infty} x^l \frac{(Ei_{k,\lambda}^Y(t))^l}{l!} (E[e_\lambda^Y(t)])^r \\
 &= \sum_{l=0}^{\infty} x^l \sum_{n=l}^{\infty} S_{2,\lambda}^{(r,k,Y)}(n+r, l+r) \frac{t^n}{n!} \\
 &= \sum_{n=l}^{\infty} \sum_{l=0}^n x^l S_{2,\lambda}^{(r,k,Y)}(n+r, l+r) \frac{t^n}{n!}.
 \end{aligned}$$

Thus, we have the following theorem.

Theorem 5. For $n \geq l$, we have

$$Bel_{n,\lambda}^{(r,k,Y)}(x) = \sum_{l=0}^n x^l S_{2,\lambda}^{(r,k,Y)}(n+r, l+r).$$

From (17), we observe that

$$\begin{aligned} \sum_{n=0}^{\infty} Bel_{n,\lambda}^{(r,k,Y)}(x) \frac{t^n}{n!} &= e^{\frac{x}{2}(Ei_{k,\lambda}^Y(t))} \sum_{k=0}^{\infty} Bel_{k,\lambda}^{(r,k,Y)}\left(\frac{x}{2}\right) \frac{t^n}{n!} \\ &= \sum_{l=0}^{\infty} \left(\frac{x}{2}\right)^l \frac{1}{l!} (Ei_{k,\lambda}^Y(t))^l \sum_{m=0}^{\infty} Bel_{m,\lambda}^{(r,k,Y)}\left(\frac{x}{2}\right) \frac{t^m}{m!} \\ &= \sum_{l=0}^{\infty} \frac{x^l}{2^l l!} \left(\sum_{i_1=1}^{\infty} \frac{E[E(Y)_{i_1,\lambda}]}{(i_1-1)! i_1^k} t^{i_1} \right) \left(\sum_{i_2=1}^{\infty} \frac{E[E(Y)_{i_2,\lambda}]}{(i_2-1)! i_2^k} t^{i_2} \right) \cdots \left(\sum_{i_l=1}^{\infty} \frac{E[E(Y)_{i_l,\lambda}]}{(i_l-1)! i_l^k} t^{i_l} \right) \\ &\quad \times \sum_{m=0}^{\infty} Bel_{m,\lambda}^{(r,k,Y)}\left(\frac{x}{2}\right) \frac{t^m}{m!} \\ &= \sum_{l=0}^{\infty} \frac{x^l}{2^l l!} \sum_{j=l}^{\infty} \sum_{i_1+i_2+\dots+i_l=j} \binom{j}{i_1 i_2 \cdots i_l} \frac{E[(Y)_{i_1,\lambda}] E[(Y)_{i_2,\lambda}] \cdots E[(Y)_{i_l,\lambda}] t^j}{i_1^{k-1} i_2^{k-2} \cdots i_l^{k-1}} \frac{t^j}{j!} \sum_{m=0}^{\infty} \\ &\quad \times Bel_{m,\lambda}^{(r,k,Y)}\left(\frac{x}{2}\right) \frac{t^m}{m!} \\ &= \sum_{n=0}^{\infty} \sum_{j=0}^n \sum_{l=0}^j \sum_{i_1+i_2+\dots+i_l=j} \binom{n}{j} \binom{j}{i_1 i_2 \cdots i_l} \frac{x^l}{2^l l!} \frac{E[(Y)_{i_1,\lambda}] E[(Y)_{i_2,\lambda}] \cdots E[(Y)_{i_l,\lambda}]}{(i_1 i_2 \cdots i_l)^{k-1}} \\ &\quad \times Bel_{n-j,\lambda}^{(r,k,Y)}\left(\frac{x}{2}\right) \frac{t^n}{n!} \end{aligned} \tag{19}$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} Bel_{n,\lambda}^{(r,k,Y)}(x) \frac{t^n}{n!} &= e^{\frac{2}{3}x(Ei_{k,\lambda}^Y(t))} \sum_{k=0}^{\infty} Bel_{k,\lambda}^{(r,k,Y)}\left(\frac{x}{3}\right) \frac{t^n}{n!} \\ &= \sum_{l=0}^{\infty} \left(\frac{2}{3}\right)^l \frac{x^l}{l!} (Ei_{k,\lambda}^Y(t))^l \sum_{m=0}^{\infty} Bel_{m,\lambda}^{(r,k,Y)}\left(\frac{x}{3}\right) \frac{t^m}{m!} \\ &= \sum_{l=0}^{\infty} \left(\frac{2}{3}\right)^l \frac{x^l}{l!} \left(\sum_{i_1=1}^{\infty} \frac{E[E(Y)_{i_1,\lambda}]}{(i_1-1)! i_1^k} t^{i_1} \right) \left(\sum_{i_2=1}^{\infty} \frac{E[E(Y)_{i_2,\lambda}]}{(i_2-1)! i_2^k} t^{i_2} \right) \cdots \left(\sum_{i_l=1}^{\infty} \frac{E[E(Y)_{i_l,\lambda}]}{(i_l-1)! i_l^k} t^{i_l} \right) \\ &\quad \times \sum_{m=0}^{\infty} Bel_{m,\lambda}^{(r,k,Y)}\left(\frac{x}{3}\right) \frac{t^m}{m!} \end{aligned} \tag{20}$$

$$\begin{aligned}
 &= \sum_{l=0}^{\infty} \left(\frac{2}{3}\right)^l \frac{x^l}{l!} \sum_{j=l}^{\infty} \sum_{i_1+i_2+\dots+i_l=j} \binom{j}{i_1 i_2 \dots i_l} \frac{E[(Y)_{i_1, \lambda}] E[(Y)_{i_2, \lambda}] \dots E[(Y)_{i_l, \lambda}] t^j}{i_1^{k-1} i_2^{k-2} \dots i_l^{k-1}} \frac{t^j}{j!} \sum_{m=0}^{\infty} \\
 &\times Bel_{m, \lambda}^{(r, k, Y)} \left(\frac{x}{3}\right) \frac{t^m}{m!} \\
 &= \sum_{n=0}^{\infty} \sum_{j=0}^n \sum_{l=0}^j \sum_{i_1+i_2+\dots+i_l=j} \binom{n}{j} \binom{j}{i_1 i_2 \dots i_l} \left(\frac{2}{3}\right)^l \frac{x^l}{l!} \frac{E[(Y)_{i_1, \lambda}] E[(Y)_{i_2, \lambda}] \dots E[(Y)_{i_l, \lambda}]}{(i_1 i_2 \dots i_l)^{k-1}} \\
 &\times Bel_{n-j, \lambda}^{(r, k, Y)} \left(\frac{x}{3}\right) \frac{t^n}{n!}.
 \end{aligned}$$

Repeating this process α times, we have

$$\begin{aligned}
 \sum_{n=0}^{\infty} Bel_{n, \lambda}^{(r, k, Y)} \left(\frac{x}{\alpha}\right) \frac{t^n}{n!} &= e^{\frac{\alpha-1}{\alpha} x (Ei_{k, \lambda}^Y(t))} \sum_{k=0}^{\infty} Bel_{k, \lambda}^{(r, k, Y)} \left(\frac{x}{\alpha}\right) \frac{t^n}{n!} \tag{21} \\
 &= \sum_{l=0}^{\infty} \left(\frac{\alpha-1}{\alpha}\right)^l \frac{x^l}{l!} (Ei_{k, \lambda}^Y(t))^l \sum_{m=0}^{\infty} Bel_{m, \lambda}^{(r, k, Y)} \left(\frac{x}{\alpha}\right) \frac{t^m}{m!} \\
 &= \sum_{l=0}^{\infty} \left(\frac{\alpha-1}{\alpha}\right)^l \frac{x^l}{l!} \left(\sum_{i_1=1}^{\infty} \frac{E[E(Y)_{i_1, \lambda}]}{(i_1-1)! i_1^k} t^{i_1}\right) \left(\sum_{i_2=1}^{\infty} \frac{E[E(Y)_{i_2, \lambda}]}{(i_2-1)! i_2^k} t^{i_2}\right) \dots \left(\sum_{i_l=1}^{\infty} \frac{E[E(Y)_{i_l, \lambda}]}{(i_l-1)! i_l^k} t^{i_l}\right) \\
 &\times \sum_{m=0}^{\infty} Bel_{m, \lambda}^{(r, k, Y)} \left(\frac{x}{\alpha}\right) \frac{t^m}{m!} \\
 &= \sum_{l=0}^{\infty} \left(\frac{\alpha-1}{\alpha}\right)^l \frac{x^l}{l!} \sum_{j=l}^{\infty} \sum_{i_1+i_2+\dots+i_l=j} \binom{j}{i_1 i_2 \dots i_l} \frac{E[(Y)_{i_1, \lambda}] E[(Y)_{i_2, \lambda}] \dots E[(Y)_{i_l, \lambda}] t^j}{i_1^{k-1} i_2^{k-2} \dots i_l^{k-1}} \frac{t^j}{j!} \sum_{m=0}^{\infty} \\
 &\times Bel_{m, \lambda}^{(r, k, Y)} \left(\frac{x}{\alpha}\right) \frac{t^m}{m!} \\
 &= \sum_{n=0}^{\infty} \sum_{j=0}^n \sum_{l=0}^j \sum_{i_1+i_2+\dots+i_l=j} \binom{n}{j} \binom{j}{i_1 i_2 \dots i_l} \left(\frac{\alpha-1}{\alpha}\right)^l \frac{x^l}{l!} \frac{E[(Y)_{i_1, \lambda}] E[(Y)_{i_2, \lambda}] \dots E[(Y)_{i_l, \lambda}]}{(i_1 i_2 \dots i_l)^{k-1}} \\
 &\times Bel_{n-j, \lambda}^{(r, k, Y)} \left(\frac{x}{\alpha}\right) \frac{t^n}{n!}.
 \end{aligned}$$

By comparing the coefficients on both sides in (21), we have the following theorem.

Theorem 6. For $n, k \geq 0, \alpha \in \mathbb{N}$, we have

$$Bel_{n, \lambda}^{(r, k, Y)}(x) = \sum_{j=0}^n \sum_{l=0}^j \sum_{i_1+i_2+\dots+i_l=j} \binom{n}{j} \binom{j}{i_1 i_2 \dots i_l} \left(\frac{\alpha-1}{\alpha}\right)^l \frac{x^l}{l!} \tag{22}$$

$$\times \frac{E[(Y)_{i_1, \lambda}]E[(Y)_{i_2, \lambda}] \cdots E[(Y)_{i_l, \lambda}]}{(i_1 i_2 \cdots i_l)^{k-1}} Bel_{n-j, \lambda}^{(r, k, Y)} \left(\frac{x}{\alpha} \right).$$

3. Conclusion

In this paper, we considered probabilistic degenerate poly r -Stirling numbers of the second kind and r -Bell polynomials. We explored some identities of poly r -Stirling numbers of the second kind and r -Bell polynomials. Although not studied in this paper, there are still problems to solve in the case of continuous and discrete random variables. We will study these cases in the future.

References

- [1] J. A. Adell. Probabilistic Stirling numbers of the second kind and applications. *Journal of Theoretical Probability*, 35(1):636–652, 2022.
- [2] L. Comtet. *Advanced Combinatorics: The Art of Finite and Infinite Expansions*. Reidel, Dordrecht, 1974.
- [3] D. S. Kim and T. Kim. r -extended Lah-Bell numbers and polynomials associated with r -Lah numbers. *Proceedings of the Jangjeon Mathematical Society*, 24(1):1–10, 2021.
- [4] T. Kim and H. K. Kim. Degenerate poly-Bell polynomials and numbers. *Advances in Difference Equations*, 2021:361, 2021.
- [5] T. Kim and D. S. Kim. Degenerate polyexponential functions and degenerate Bell polynomials. *Journal of Mathematical Analysis and Applications*, 487(2):124017, 2020.
- [6] T. Kim, D. S. Kim, and H. K. Kim. Multi-Stirling numbers of the second kind. *Filomat*, 38(24):8653–8661, 2024.
- [7] T. Kim and D. S. Kim. Some identities and properties on degenerate Stirling numbers. *Indian Journal of Pure and Applied Mathematics*, 2023.
- [8] P. Sun and T. M. Wang. Probabilistic representations of Stirling numbers with applications. *Acta Mathematica Sinica, Chinese Series*, 41(2):281–290, 1998.
- [9] K. T. Atanassov and B. I. Kolev. On an intuitionistic fuzzy implication from a probabilistic type. *Advances in Studies in Contemporary Mathematics*, 12(1):111–116, 2006.
- [10] T. Kim and D. S. Kim. Explicit formulas for probabilistic multi-poly-Bernoulli polynomials and numbers. *Russian Journal of Mathematical Physics*, 31(3):450–460, 2024.
- [11] T. Kim and D. S. Kim. Generalization of Spivey's recurrence relation. *Russian Journal of Mathematical Physics*, 31(2):218–226, 2024.
- [12] T. Kim and D. S. Kim. Probabilistic Bernoulli and Euler polynomials. *Russian Journal of Mathematical Physics*, 31(1):94–105, 2024.
- [13] T. Kim, D. S. Kim, and J. Kwon. Probabilistic identities involving fully degenerate

- Bernoulli polynomials and degenerate Euler polynomials. *Applied Mathematics in Science and Engineering*, 33(1):2448193, 2025.
- [14] D. S. Kim and T. Kim. Moment representations of fully degenerate Bernoulli and degenerate Euler polynomials. *Russian Journal of Mathematical Physics*, 31(4):682–690, 2024.
- [15] T. Kim and D. S. Kim. Probabilistic degenerate Dowling polynomials associated with random variables. *Mathematical Methods in the Applied Sciences*, 48(4):5024–5038, 2025.
- [16] S.-H. Lee, L. Chen, and W. Kim. Probabilistic type 2 poly-Bernoulli polynomials. *European Journal of Pure and Applied Mathematics*, 17(3):2336–2348, 2024.
- [17] S.-H. Lee and L. Chen. Probabilistic multiple poly-Bernoulli polynomials of the second kind. *European Journal of Pure and Applied Mathematics*, 18(1):5702, 2025.
- [18] W. Liu, Y. Ma, T. Kim, and D. S. Kim. Probabilistic poly-Bernoulli numbers. *Mathematical and Computational Modelling of Dynamical Systems*, 30(1):840–856, 2024.
- [19] J. Wang, Y. Ma, T. Kim, and D. S. Kim. Probabilistic degenerate Bernstein polynomials. *Applied Mathematics in Science and Engineering*, 33(1):2448191, 2025.
- [20] H. K. Kim. Combinatorial identities degenerate r -Dowling-Lah polynomials and numbers arising from degenerate umbral calculus. *Advances in Studies in Contemporary Mathematics*, 32(3):303–324, 2022.
- [21] T. Kim and H. K. Kim. A note on λ -analogue of Lah numbers and λ -analogue of r -Lah numbers. *Demonstratio Mathematica*, 57(1):20240065, 2024.
- [22] D. S. Kim and T. K. Kim. Normal ordering associated with λ -Whitney numbers of the first kind in λ -shift algebra. *Russian Journal of Mathematical Physics*, 30(3):310–319, 2023.
- [23] T. Kim, D. S. Kim, W. Kim, and J. Kwon. Some identities related to degenerate Bernoulli and degenerate Euler polynomials. *Mathematical and Computational Modelling of Dynamical Systems*, 30(1):882–897, 2024.
- [24] B. Kurt. Notes on the degenerate harmonic numbers and polynomials. *Advances in Studies in Contemporary Mathematics*, 33(3):213–219, 2023.
- [25] W. Liu, L. Luo, H. K. Kim, and T. Kim. A study on two types of degenerate unipoly-Dedekind sums. *Applied Mathematics in Science and Engineering*, 32(1):2322596, 2024.
- [26] T. Kim and D. S. Kim. Probabilistic degenerate Bell polynomials associated with random variables. *Russian Journal of Mathematical Physics*, 30(4):528–542, 2023.
- [27] T. K. Kim and D. S. Kim. Some identities involving degenerate Stirling numbers associated with several degenerate polynomials and numbers. *Russian Journal of Mathematical Physics*, 30(1):62–75, 2023.
- [28] T. Kim, D. S. Kim, and J.-W. Park. Degenerate r -truncated Stirling numbers. *AIMS Mathematics*, 8(11):25957–25965, 2023.
- [29] T. Kim, D. S. Kim, H. Lee, and J.-W. Park. A note on degenerate r -Stirling numbers. *Journal of Inequalities and Applications*, 2020:203, 2020.
- [30] H. K. Kim and D. V. Dolgy. Note on the reciprocal of power series associated with incomplete degenerate Lah-Bell polynomials. *Advances in Studies in Contemporary*

- Mathematics*, 33(1):63–70, 2023.
- [31] M. Abramowitz and I. A. Stegun. *Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables*. Dover, New York, 1992.
 - [32] M. Ma and D. Lim. A note on degenerate multi-poly-Bernoulli polynomials. *Advances in Studies in Contemporary Mathematics*, 30(4):597–606, 2020.
 - [33] J.-W. Park. On the degenerate multi-poly-Genocchi polynomials and numbers. *Advances in Studies in Contemporary Mathematics*, 33(2):181–186, 2023.
 - [34] K.-S. Hwang. On complete convergence for weighted sums of widely negative dependent random variables under sub-linear expectations. *Advances in Studies in Contemporary Mathematics*, 34(3):253–266, 2024.
 - [35] S. M. Ross. *Introduction to Probability Models*. Academic Press, London, 13 edition, 2024.
 - [36] H. Teicher. An inequality on Poisson probabilities. *The Annals of Mathematical Statistics*, 26(1):147–149, 1955.
 - [37] R. Soni, P. Vellaisamy, and A. K. Pathak. A probabilistic generalization of the Bell polynomials. *The Journal of Analysis*, 32(2):711–732, 2024.
 - [38] B. Q. Ta. Probabilistic approach to Appell polynomials. *Expositiones Mathematicae*, 33(3):269–294, 2015.